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QUESTION 1

Company X has three Operating Units: A, B, and C. Each Operating Unit has the MO:Security Access profile option
called ABC Security assigned. Operating Unit A has both the MO: Operating Unit profile option and the MO: Default
Operating Unit profile option assigned to it. 

Which statement is true? 

A. Paul can create transactions for the A, B, and C Operating Units. 

B. All transactions created by Paul are automatically assigned to the Operating Unit A. 

C. Paul can report on data across A, B, and C Operating Units, but enter transactions only against A. 

D. The profile option did not include Operating Unit B and Operating Unit C due to an error by the system administrator. 

E. The Payables responsibility is linked to the Operating Unit A by the MO: Operating Unit profile option and can create
transactions for that Operating Unit alone. 

Correct Answer: A 

 

QUESTION 2

What are the three object components of Data Security? (Choose three.) 

A. Object 

B. Object Groups 

C. Object Instance 

D. Object Group Set 

E. Object Instance Set 

Correct Answer: ACE 

 

QUESTION 3

Identify three features of Oracle Workflow. (Choose three) 

A. enhances data security 

B. helps you in maintaining business processes 

C. helps you in keeping track of individual business transactions 

D. starts workflow processes as a result of an inbound message 

E. captures exceptions during workflow execution and takes relevant actions 



F. integrates business functions only between business processes within a single Oracle E-Business Suite instance 

Correct Answer: BDE 

 

QUESTION 4

Which two parameters facilitate cross organization reports in a Multi-Org environment? (Choose two.) 

A. Ledger 

B. Legal Entity 

C. Operating Unit 

D. Reporting Level 

E. Reporting Context 

Correct Answer: DE 

 

QUESTION 5

Employee information in Oracle E-Business Suite Release 12 is partitioned by _____. 

A. Legal Entity 

B. Operating Unit 

C. Business Group 

D. HR Organization 

E. Inventory Organization 

Correct Answer: C 

 

QUESTION 6

Select four tasks that you can perform from the Self-Service home page of Oracle Workflow embedded in Oracle E-
Business Suite Release 12. (Choose four.) 

A. View "FYI Notifications." 

B. Purge Closed notifications. 

C. View "Notifications From Me." 

D. View participant responses for a completed workflow. 

E. Access status diagram of workflows that are in any status. 



F. Access status diagram of workflows that are with status "Processed" or "Errored." 

Correct Answer: ACDE 

 

QUESTION 7

XYZ Corp. is in the business of manufacturing cosmetics. It obtains and pays for raw materials. Which business flow in
Oracle E-Business Suite Release 12 would map to the activities of obtaining and paying for raw materials? 

A. Order to Cash 

B. Procure to Pay 

C. Forecast to Plan 

D. Demand to Build 

E. Contract to Renewal 

Correct Answer: B 

 

QUESTION 8

Company ABC added a new responsibility to an existing Oracle E-Business Suite Release 12 application. The System
Administrator sets the MO: Operating Unit profile option at the Application level. The Application level will override the
_____ level. 

A. Site 

B. Responsibility 

C. User and Responsibility 

D. User, Responsibility, and Site 

Correct Answer: A 

 

QUESTION 9

Oracle Daily Business Intelligence (DBI) Release 12 functions are secured using the Oracle Application 

function security. DBI is also secured using a combination of user-based and responsibility-based data and 

function security. Identify five parameters used to secure dashboards. 

(Choose five.) 

A. District 

B. Commodity 



C. Sales Group 

D. Operating Unit 

E. Request Type 

F. Inventory Organization 

Correct Answer: ABCEF 

 

QUESTION 10

The WF: Notification Reassign Mode profile option is set to "Transfer" for User A and set to "Reassign" for User B. User
B granted his or her worklist access to User A while going on vacation. Identify three statements that apply to User A
when he or she accesses User B\\'s worklist. (Choose three.) 

A. User A will be able to grant access to User B\\'s worklist to another user. 

B. User A will not be able to grant access to User B\\'s worklist to another user. 

C. User A will see the "Transfer" button when he or she accesses User B\\'s worklist. 

D. User A will see the "Reassign" button when he or she accesses User B\\'s worklist. 

E. User A will be able to "Delegate" and "Transfer" User B\\'s notifications to other users. 

F. User A will be able to "Transfer" but not "Delegate" User B\\'s notifications to other users. 

Correct Answer: BCF 

 

QUESTION 11

The technical architecture in Oracle E-Business Suite Release 12 supports the business needs of the application. Select
three technical features included in the technical architecture in Oracle E-Business Suite Release 12. (Choose three.) 

A. global 

B. mobile interface 

C. rapid implementation 

D. Business Intelligence 

E. end-to-end integration 

F. self-service (HTML/JSPs) 

Correct Answer: BDF 

 

QUESTION 12



Which three major application product families are included in the Oracle E-Business Suite Release 12 footprint?
(Choose three.) 

A. Oracle Workflow 

B. Oracle Financials 

C. Oracle Applications Framework 

D. Oracle Applications Object Library 

E. Oracle Project Management Product Suite 

F. Oracle Human Resources Management System Suite 

Correct Answer: BEF 
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